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Topic:- Grad_Nutrition and Health

1) Water soluble vitamin is?/5d i | gﬂﬂ?ﬁﬁ ICEITE] %?
1. Vitamin - ¢/faerf&= - €
2. Vitamin - D/fdeTf®= - D
3. Vitamin - A/fdei@= - A
4. Vitamin - E/faeTii -

m

Correct Answer :-

e Vitamin - ¢/fdei®= - C

2) Which facilities are provided through anganwadi centers?/ GITTHH'I@ F=i & Hread q B {
gfaem & St 32

1. Health checkup / TR SF
2. Primary vaccination / TTdfHa STl
3. Supplementary Food / UR& UINUT 38R

4. All of these/ IURIad Tt

Correct Answer :-

o All of these/ IURIad g+

3) Hepatitis disease affects which part of human beings:/%ﬁ?f%ﬁﬁﬁ'ﬂ HIY & ﬁm 3T Bt
grfaued o &:

1. Liver/dod
2. Lungs/a?l?b%
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3. Kidney/qdah
4. Heart/gad

Correct Answer :-

o Liver/ddd

4) Proteinis notfound _____ :/ WidH
1. In Blood/3dad A

2. In Lymph/aRieT &

3. In protoplasm/®IfReT G o

4. In Bilejuice/faRa &

Correct Answer :-

« In Bilejuice/fa #

5) Which harmone is responsible for changes in breasts during pregnancy?/ Tyfawyt & RE
WA & uRadd & R &1 a1 g Suierdt 82

1. Godedotropin/THeIcith-1

2. Progesterone/oRg M

3. Overian/3flaf@a

4. None of these/ ITH I ®18 gl

Correct Answer :-

« Progesterone/HIoIRgH

6) Which of the following vaccines is given to pregnant women?/f5% & @ S It dRf mafadt
afgen &1 & St 82

1. 0.p.v./3f. 4t
2. D.P.T./SLULE.
3. Tetanus/feeTg

4. None of these / 378 T P13 gl

Correct Answer :-

. Tetanus/léé:lﬂ

7) Vitamin known as 'Tecopherol’ is: /“Eﬁﬁ'ﬁv_ﬂﬂ“ F A A SET 9F aren fderfiE %:
1. Vitamin - E/fdeii®= - E
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2. Vitamin - D/fdef@= - D
3. Vitamin - ¢/fdefd= - C
4. Vitamin - A /[defi= - A

Correct Answer :-

« Vitamin - E/fdeT®A - E

8) CANCELLED

Objective of 'Bal shakti yojna' is:/URaR &¢uT0 HRIHH HT BT 3£.3T &
1. Promote sports/Ad®HE &I Sgial ol

2. Population control/ST=%eaT a0

3. First Aid/gTuffid IUAR
4. Severe Malnutrition Control/THR SUINUT TR =0T

Correct Answer :-

« Severe Malnutrition Control/AR oo IR =0T

9) The weight of the woman increases, during pregnancy is-/ Tlf THIGRT & a?'IT-I Hfgar & aoid A

i it &

1. 25 Kg/25 foar
2. 20 Kg /20 four
3. 12 Kg /12 fbam

4. 18 Kg/18 fabur

Correct Answer :-

. 12 Kg /12 fooom

10) Girls require iron in Adolescence: -/ﬁ'ﬂ{ﬁm H grfarerai %‘g’ 3R $1 ATILgHdT gl %:
1. 40 - 45 Mg. Per day/ 40 - 45 Mg. Hfafaa
2. 28 - 30 Mg. Per day/28 - 30 Mg. Tfafea
3.10 - 15 Mg. Per day/10 - 15 Mg. fafeT

4. 50 - 55 Mg. Per day /50 - 55 Mg. fafea

Correct Answer :-

« 28 - 30 Mg. Per day/28 - 30 Mg. Hfdfa-
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The National Blindness control program was launched in M.P. in collaboration with: /H.Y. ﬁ'?T@“q

=RE i srfww fead weahT |/ gamar T ?:
1. World Bank/fdy &%

2. WHO/fa% Targ &t

3. Central /&<

4. None of these / STH I F1g -Tg!

Correct Answer :-

e World Bank/ﬁ"d’%

12) The main reason of malnutrition in India is-/ HRd ¥ $UIYUT BT BT HRUT &-
1. Population Growth/SI-EaT gl

2. Illiteracy/ 33T

3. Poverty/TI'@Tfr

4. All of these/IURIG FHT

Correct Answer :-

e All of these/SWRIgd HT

13) Who discovered the vaccine of Chicken pox?/39® 1 &1$ &1 @il fraa &1 A2
1. Robert coach / J&<C HIF
2. Phenet / e

3. Makluan / BgeH
4. Edavard Jenar / T8ds OR

Correct Answer :-

o Edavard Jenar / QSE‘S‘ SR

14) What is the full form of AIDS?/ (AIDS) T YRT ATH %:

1. Acquired immune deficiency syndrome/QWRK%F ETEEﬁ SR ﬁl@ﬂ
2. Acquired immune disease symptoms[QEvTEI'c-ic Bl f&oier e

3. Auto immune deficiency syndrome/3ﬂ€f SHA Wﬁl@ﬁ

4. Anti-immune deficiency syndrome/TUct SHA SihRE= ﬁl@ﬁ

Correct Answer :-

« Acquired immune deficiency syndrome/T&Tae SR SR RigH
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15) People living in cold climatic states require energy: / 381 S@ATY aTd WeRN W ¥g
I A A eIl P SIRIHAr gt &

1. More/3ff¥&®

2. Less/dH

3. Normal/JHg

4. None of these/ 3:1'43[ I ﬁé T8l

Correct Answer :-

« More/3ffd%

16) Iodine deficiency disease in children is:/3TNEIT B HH A FTAP! A 811 AT I &:
1. Scurvy/¥Baf

2. Cratinism/37 319 3TER

3. Pallagra/UaRn

4. Beri-Beri/aiat

Correct Answer :-

« Cratinism/3{g 319 3MER

17) The polio virus affects the child's system most-/ Qe &7 aRY 7= & fHT & F Faifte
g BT 3-

1. The nervous system/dRdT o
2. Digestive system/UTe o
3. Respiratory System/4d =

4. Circulatory system/dqRag= o=

Correct Answer :-

« The nervous system/dfAdT dF

18) The rates of BMI in women compared to men is: / Afgamaii @ MU TaT0ag ot G [=ul BI
LEEL :

1. Is more/31f% gKit 8

2. Is less/®H Bldt &

3. Equals/aRTeR BIdit g

4. None of these/ 378 T @5 gl

Correct Answer :-

o Isless/dH Eﬁ"cﬁ %
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19) For confirmation of pregnancy is checked. / TYHRIT BT g@ %‘g’ P Si"
P Wt @

1. Urine/TA &1
2. Blood/3ad &1

3. Saliva/dR &1

4. None of these/ Q:l'f{ I ﬁ'&‘ T&ﬁ

Correct Answer :-

e Urine/T &1

20) Complete pregnancy period is-/ Tlf TYERIT FT 3rafy gt %:
1. 295 Days/295 fe
2. 280 Days/280 fa=1
3. 288 Days/288 fa=1

4. 290 Days/290 f&a

Correct Answer :-

« 280 Days/280 fa=

21) Pregnant woman should have good for full development of the fetus./ TR RIY F
quf faer & o) mladht wit &1 e eI IR

1. High protein rich/3@ Ui gad

2. High calcium rich/3= Hicxrgw gad
3. Both of the above/ IR gHl
4. None of these /B'Clﬁaﬂ A @fﬁ'sc:lﬁ

Correct Answer :-

« Both of the above/ SWRIgd Gl

22) How many gram of cereals is required for a simple working pregnant woman? /U dI¢IRUT

fopamsita Mefacdt T S fFaa T 3T Bt SagHr ufdfe gl §
1. 400 gram/400 JH
2. 800 gram/800 UH
3. 600 gram/600 UH

4. 700 gram/700 J1H

Correct Answer :-
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* 400 gram/400 I1H

23) The cause of Tetanus disease is- /ﬁ%T-RTﬁ'lT DT HRUT %—
1. Diphtheria baciIIi/Fe’ERj’ri:\fEITaﬁﬁ'ﬂ%t

2. Vibrio Calorie/ﬁ@tﬁ A

3. Chostridium tetani/dARC ST ce-T

4. None of these/3TH § ®13 Ta!

Correct Answer :-

« Chostridium tetani/dRe fsad <el

24) is the international unit of measuring Energy. / ol AU P GITR'I'Q'!I 's’EFTQF %
1. Calorie /ﬁﬂ

2. Jule/qS[d

3. Watt/dIc
4. Kilowatt/f&aare

Correct Answer :-

o Jule/S[d

25) To perfect against perniuous Anaemia, which food is necessary to take in pregnancy:/

uififRrT THfET (Pernicious Anaemia) ¥ 9919 3q THGRIT § HISH § AT STIRAS @
1. Vitamin - B12/fdeTf#H - B12

2. Vitamin - D /fdei@= - D

3. Vitamin - K/fderfie - K

4. None of these/ 378 ¥ ®I5 g

Correct Answer :-

e Vitamin - B12/fde1f® - B12

26) What pregnant woman should take to fulfill calcium requirement?/ g Afer & HfRw
P TagH T Bt gfel 3G T AT AR

1. Milk and milk products/gf T4T Y & &= Terf
2. Cabbage/darmit

3. Egg/3fST

4. All of these/SURIdT THT
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Correct Answer :-

o All of these/SWRIgd Tt

27) Which part of the body is affected by Jaundice?/ ST 99s & IR & 6 371 Ht guIfaa
w1 82

1. Liver/dod
2. Kidneysflﬁ
3. Heart/gad
4. Brain/Hf&Ts

Correct Answer :-

28) National Filaria Elimination program is launched in:/?TfN wrs'aﬁm SHAA PTAHH H URY
forar T At

1. 1963
2. 1958
3. 1962

4. 1955

Correct Answer :-

e 1955

29) The main objective of family welfare is: /AR HedT0l PHTAHH BT qsq 3%"\’!1 f
1. Rural health service/‘IFﬂUT WY JqdT

2. Population control/STEReAT FHa=0T

3. Increase in Income/ 3 & gig

4. None of these/ 378 T ®Is gl

Correct Answer :-

« Population control/SHE®AT =01

30) Meaning of malnutrition is -/ FWYT HT 37 grar 8-
1. Over nutrition/31fd GIyoT

2. Under nutrition/3fcd oy

3. Both of the above/JWRIad GHI
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4. None of these/ sﬂﬁ I ﬁé T8l

Correct Answer :-

« Both of the above/JURIad GIHl

31) The power of fighting the diseases in the body is called: /IRR # I | TS B! Mfad B Fed
&

1. Immunity power/T TR &
2. Disinfection/f: gpHUT

3. Both of the above/GTIﬁTﬁ G|

4. None of these/ sﬂﬁ I ﬁ'&f EEl

Correct Answer :-

e Immunity power/ﬂT[ OicRIee &

32) When does the child get measles vaccine?/Hsied $1 b1 aTd® P B @Il 82
1. In 5 Month/5 A8 §
2. In 3 Month/3 e
3. In 9 Month/9 \Tg H

4. In 4 Month/4 AT |

Correct Answer :-

« In 9 Month/9 ATE H

33) CANCELLED

In which year the Government of India initiated programs at the National level to remove

blindness?/ 39U B g¥ $ 37 HRA PR A AP TR R PriwpH fog af yrw frar
1. 1970
2. 1985
3. 1990

4. 1975

Correct Answer :-

e 1970

34) The age of 0 to 1 year is called: /71 ¥ AHR TP T8 aP B! AT FIT HEaAT o

1. Childhood/dTcdTd&T
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2. Infancy/*?fﬂ?ﬂaw
3. AdoIescence/ﬁWﬁWﬂ

4. None of these/ 378 J ®Is Tal

Correct Answer :-

« Infancy/=TaTaRIT

GET IT ON
Google Play

35) CANCELLED

Mid-day meal program was started by the Indian Government in the year:/ ¥d IR e

PRIHH B IR URT TWPR GRT T ® @1 g <A

1. 1961

2. 1999

3. 1990

4. 1992

Correct Answer :-

« 1961

36) According to ICMR, how much extra energy is required for women during pregnancy: /ICMR

F AR THfaRI F QR Afgensit &) e sifaRea ot $t srazawar gt 8:
1. 300 Calories per day/300 Fart ufafe

2. 800 Calories per day/800 B ufafe=

3. 1000 Calories per day/1000 @R} Hfafe

4. 600 Calories per day/600 FaRt fdfe

Correct Answer :-

« 300 Calories per day/300 HaR} ufafeT

37) Micro nutrients is:/ATSH! YT<H (J&T NS ) &
1. Potassium/UleRaq

2. Phosphorus/tb"lmw

3. Calcium/&feR/a™

4. Tron/3MRA (A1)

Correct Answer :-

« Iron/3MTERA (18T
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38) Which disease has not yet been vaccinated?/ f&d Ftarft &1 o1 3l 9% 8 371 82
1. Aids/Tsd

2. Tetanus/fce

3. Diptheria/fSFiRar

4. Hooping-cough/a&Teit it

Correct Answer :-

. Aids/TSH

39) ‘Tuberculin’ is effective from which disease:/ ‘eIaxagfer’ fa I & yUEGHRI 2:
1. Leprosy/®¥ AT

2. Dengue/ST

3. Tuberculosis/dUGd

4. Polio/gtferat

Correct Answer :-

. Tuberculosisﬁ'lflm

40) The diet for 0 to 4 month baby's should be - /571 ¥ TR A8 9% & g &1 T TR ST AMST:
1. Solid food/3 3ER
2. Semi solid food/3f; 31 3MER

3. Supplements/qR& AR
4. Mother milk/HT &1 gY

Correct Answer :-

« Mother milk/HT &1 gY

41) Prevention of T.B. can be prevented by- /<. &}, &) wrufiie AHUr &} o AHt 8-
1. B.C.G. vaccine/ . 9. Sfl. deRfH

2. M.T.D/WH.81.¢1

3. DOTS/SIcH

4. None of these/STH ¥ ®Is Tg!

Correct Answer :-

« B.C.G. vaccine/ oIS, aRiA
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42) In which year Kindergarten Nutrition Program was started by the social welfare

department?/dTAATS! WYV HTRIHH $1 IRESHTT THATS HeAT0T fIHTT gRT foy af 1 78 <02

1. 1998

2. 1988
3.1977

4. 1970

Correct Answer :-

» 1970

43) Polio is called in the language of medical science as:/ Uiferal &t fafer faga &t yrar & &
HgT Al 8:

1. Polio Myelitis/Tifcral AR
2. Polio Canreg/lﬂﬁlfﬁ Havel
3. Polio Scholar/thﬁ‘lfﬁ IH R
4. Polio Sputum/tm%ﬁf Ry

Correct Answer :-

« Polio Myelitis/aiferar Arafafed

44) Which part of the body is affected most in Typhoid?/ CAEIIS # IR ST S AT 3T Faifus
TUITId giaT g2

1. Lungs/ aﬂb%
2. Heart/ g8

3. Liver/ g&d
4. Intestines/ 3fid

Correct Answer :-

o Intestines/ 3fid

45) The vaccine of B.C.G. used to protect against which disease-/ &1.9.51. &1 dio1 fFa T A
919 & fore @ i @8-

1. Cancer/w
2. Cholera/%\_rﬂ

3. PoIio[ChﬁI?Iﬁ
4. Tuberculosis/&TRRT (aﬂﬁa?)

Correct Answer :-
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« Tuberculosis/&ERIT (dufd®)

46) When body temperature increases, metabolic rate:/ TRR P AT H (TER) Eﬁ IR AU
Calees

1. Increases/dcadl &

2. Decreases/qgcdl g

3. No Change/®1s gRac -Tg!

4. Ever decreasing ever increasing/aﬂ-ﬁ gedr %‘, i aa‘cﬁ %

Correct Answer :-

« Increases/3gdl &

47) Which vaccine is given to the child at age of two and a half month?/ E‘I€ e 31 S | ﬁl’ﬂ G|
DI T EBT AT Sl 82

1. Second vaccine of D.P.T./Sl.T1.E1. &1 fgdta St
2. First vaccine of D.P.T./S1.11.21. &1 yyH diaT

3. Vaccine of Measle/@TRT &1 Il

4. None of these/ s:l'f{ T ?ﬁg :rE?f

Correct Answer :-

« Second vaccine of D.P.T./S1.T41.TY. &1 fgdia ST

48) What age measles disease affects more? /@RI A7 {5 3y aif w1 Halfte wyurfaa wwar 82
1. 6 month to 3 years/ 6 Iﬂf{@f 399

2.0to 6 month/O@[6IIT6’

3. 0t05years/0@r5?ﬂ§f

4. 6 month to 1 years /6 Iﬂ's’@{ 19y

Correct Answer :-

« 6 month to 3 years/ 6 H§ q 3 a9

49) What nutrients excess should be in the lactating mother's diet?/ U=} HIa1 & HIvH # H19 4
TY® dd B Hfwar gl anfeu?

1. Calcium/&fexas

2. Protein/l;ﬁ'cﬁ:f

3. Both of the above/ RLRESEAGI]
4. None of these/stl'ﬁf J ﬁ?f B


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

Correct Answer :-

« Both of the above/ SWRIgd gl

50) Vitamin A supplements are given to the child for:/m?lﬁ #! faerff= by @t TRTP & St %—
1. For the protection of eyes./ 3l & qRal & ford

2. For Growth and Development / ?{@ faerg & ford

3. For the strength of bones/ Bigal &1 AoTe & ferd

4. None of these / $TH ¥ ®Is ol

Correct Answer :-

« For the protection of eyes./ 3fiRdl &1 gR&l & ford

51) Protein originates from the word proteus is word of language:/ Wi¢IH @t Iy
WIEI3RT (Proteos) Xeg & gt 81 Wty YTYT T TS B:

1. French/@h—t{
2. Greek/$ﬂ$
3. English/ SISt
4. Japani/SITarT

Correct Answer :-

« Greek/Hi&

52) __is beneficial to the ICDS-/_____ WWf%d aTa1 fawry ufkdis i (1cDs) & feaumdt &
1. Pregnant mother/THacd AR

2. Lactating Mothers/TT AT

3. Pre-School Student/¥h d tjﬁ EJE]

4. All of the above/SURlad it

Correct Answer :-

« All of the above/SWRIad g+t

53) When a person's activity increases. The quantity of protein will:/ fF<} safed &1 frar=fiaar
e W WIEH & 9

1. Increases/Jcdl &

2. Decreases/9cd &
3. Remains Constant/fRR g4t &
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4. None of these/ sﬂﬁ I ﬁé T8l

Correct Answer :-

« Remains Constant/f®R Igdl 8§

54) The first phase of the pulse polio campaign was started in:/ T qiferat T &1 93w TRoT
B YRY g3 YT:

1. May 1994/7s 1994
2. May 1996/H% 1996
3. December 1994/fGHaR 1994

4, December 1995/fGTaR 1995

Correct Answer :-

« December 1995//@TsR 1995

55) Applied Nutrition program was started in which state first? / AgIR® TSR HTUHH
(Applied) 3 IR=3UTT TAuAT fore T & gl

1. OrissaREﬂ?lT

2. Uttar Pradesh/3JTR Ul
3. Bihar/fSgR

4. Madhya Pradesh/A& UcxT

Correct Answer :-

. Orissa/Bé 88

Topic:- Grad_General Knowledge and Logical Ability

1) A student’s marks were wrongly entered as 93 instead of 39. Due to that,
the average marks for the class got increased by 1. Find the nhumber of
students in the class./ T®% BT &1 3@ Tadl & 39 & I¢a 93 Sifera g1 w1, oIS aoig
T U F&T BT 3RIT 3P 1 | ¢ AT HET | ST B J=T T De |

1. 27
2. 26
3.45

4. 54

Correct Answer :-

. 54
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2) How many squares are there in the given figure? / 3§ 7 anpfa # a7t #t G
frait 82

1.7
2.12
3.10

4. 8

Correct Answer :-

3) What was “AttaVista” / “3fgIfa¥er” oI
1. E-mail/ %—ﬁﬁ

2. Virus/ dIIRY

3. Hardware/ gTSddR

4. Search Engine/ Id g9

Correct Answer :-
« Search Engine/ Id 354

4) Excessive consumption of ethanol causes damage to the:/ QﬂFﬁ%l' F1 3f® da+ 5 3T &)
WIS ol &

1. Kidneys/ dah

2. Lungs / m

3. Heart/ gad

4, Liver/ 9 d
Correct Answer :-

e Liver/ dpd

5) In MS-Access to open new database used:/MS-Access H 971 STeT 99 W

1. CTRL+N
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2. CTRL+O

3. ALT+F4

4. None of these/s:lﬁ I ﬁsc H%T

Correct Answer :-

« CTRL+N

6) In a certain code language if ‘Rose’ is called ‘Sun-Flower',’ Sun-Flower’' is
called ‘Sakura’, ‘Sakura’ is called ‘Peony’, ‘Peony’ is called ‘Lotus’ and ‘Lotus’
is called ‘Marigold’, then which will be national flower of India?/ Tlﬁ"ﬂ?lﬁ' G|

Qe DY "HHT BT ATdT g 3R “SHA' DI NG’ DT STdT 8 a1 U DT AT T8T DI AT
2

1. Sakura/IdHxT

2. Peony/ﬁ\?vﬁ:ﬁ

3. Marigold/ﬁ?T

4. Lotus/HA

Correct Answer :-

. Marigold/ﬁﬂT

7) Which of the answer figures is exactly the mirror image of the given

figure when the mirror is held at PQ? / g & & ®17 Wt 3w amepfa & it wy snpfar
3t T8 gdur yfafare gift &9 gdur & PQ WR @ 14T 82

Question Figure: /a9 JrpfA:
P

P

Answer Figures: | 3512 Slrfﬁ-'ﬂﬂ

D | B DD

A B Cc D

1.A
2.B
3.C

4.D

Correct Answer :-

e A
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8) Which of the following diagram shows the students who learn Law and
Music, Music and Dance and who learn Law, Music and Dance?/T-ﬂ%rﬁ'QTlt{
Y@rfEt # S-97 YarE N faenfiay @) gwitar 8@ o) e ok Tifta dhea €, Ifta ok
T HRad & iR ot ®rH, Ta iR o A Waa 82

&
.00
&

.©

Correct Answer :-

9) Since which year has the Sarva Shiksha Abhiyan been operational? / ¥
foreaT rframe w9 a9 & FrAieaAd 872

1. 2000-01
2.2001-02
3.2002-03
4. 2003-04

Correct Answer :-
« 2000-01

10) DIRECTIONS: Select the answer figure in which the question figure is

embedded./ fA321: a8 IR pfa F1a HoE forad uy spfa fafga 21
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Question Figure /U931 MBI

Answer Figures / 3caz HgHfadr

%

7] ] &) [+

1A
2.B
3.C

4.D

Correct Answer :-
« C

11) To see the effect of Motion Path with the Custom Animation Task Pane

you must /HEH TAATE e U9 I HINF U9 &1 Shae ¢ & fog 3!
BT BRI

1. Click the Show Effect button/ X 3thae s &I faas
2. Double click on Motion Path/ AIRF UTY &I S9d fadd

3. Click Play Button/ & §c- &I faa®
4. None of these/ s?ff I ﬁéqﬁ

Correct Answer :-

« Click the Show Effect button/ Tl 3thae s &l faas

12) At least how many persons belonging to the Scheduled Castes and
Scheduled Tribes must be members of the National Commission for Women?

/ TET ATRET AT & GaEd1 # FH & FF fohast A6 Aqg=d STt AT A~ STAS1iq & geaferg
B AT(RT?

1.1
2.2
3.3

4.4

Correct Answer :-

e 1
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13) If the simple interest on a sum at 5% per annum for 3 years is Rs.1,200.
Find the compound interest on the same sum for the same time and at the
same rate of interest./ Tl 5% a1fi¥e sare @1 g3 | fowdft gae &1 3 ad & Fremor
TS ¥4 1,200 g, I FUTH AU W G 4TS @ &% N U 99 & e whgfe s
W1 MUET HIfOTC|

1.Rs.1,361/%. 1,361
2. Rs.1,240/3. 1,240
3.Rs.1,261/3. 1,261

4. Rs.1,440/%. 1,440

Correct Answer :-

. Rs.1,261/%. 1,261

14) A protein hormone is-/ Th meA B'\Il'qﬁ %—
1. Epinephrine/qm'qv—l?ﬂ

2. Androgen/ Q'U_QP'@:[

3. Progesterone/ ORI

4. THS/ YTRICTU®

Correct Answer :-

. THS/ U UH

15) DIRECTIONS: Choose the missing terms out of the given alternatives./
frd=m: fou e faredl & @ qw vel &1 719 39 |

d n___  nndm_n

1. ndmnm

2. mdnmn

3. mndmn
4, dmnnm
Correct Answer :-
« mndmn

16) The Right to Property is a Constitutional Right under the Article - / #t9%
AT b AT HYIT HT TR TH HALTAF ATAHTC 72
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1.295 A
2.298 A
3.300 A

4,302 A

Correct Answer :-

« 300A

17) Who was the Chairman of the first National Commission for Scheduled

Tribes? / TAYIH AT STASATIA ST F FETET HIA I?
1. Kunwar Singh / Fa fig

2. Lama Lobjang / AT &TasiT

3. Prem Bai Mandvi / 3% aTE A=t

4. Tapir Gao / ardie T

Correct Answer :-

« Kunwar Singh / Fa¥ &g

18) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ e fafafed uy § uyeras e ) &
R THIT DI AT | T2

/5456 2120 - V460 _ ?

1. 110
2.130
3.159

4. 190

Correct Answer :-

« 159

19) Two numbers are in ratio of 4:5 respectively. If each number is reduced
by 25, then the ratio becomes 3:4. Find the largest number./ <l TEmsi &1
SUTd HHRT: 4:5 31 TS U B W | 25 Herd € df 3Jurd 3:4 gl 9ITdl 81 981 &1 J1d

S

iy

1.100

2.125
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3.130

4. 135

Correct Answer :-

« 125

20) In which year was the Immoral Traffic (Prevention) Act passed? / sHfa®
AT (T srferfaam e o arfa frar a2

1. 1954
2. 1956
3. 1958

4. 1959

Correct Answer :-

« 1956

21) Lacteals are related with-/ dfdesred Trfid ﬁ?ﬁ %—
1. Secretion of Lactic acid/Qfaed 3 & TATaTor I

2. Secretion of milk/ gY CRGICIVES

3. Absorption of Lactose/digeol & 3fGRNYUT

4. Absorption of milk/gT¥ SR

Correct Answer :-
« Absorption of milk/GT¥l AN I

22) By which year does the Swachh Swasth Sarvatra aim to make India Open
Defecation Free (ODF)? / =g Tae 94 JIST (AW & & HIFd 99 qF WILJ &l G § &A=
HH TATH T AT T@T 872

1. 2019
2. 2020
3.2021
4, 2022

Correct Answer :-

« 2019
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23) Which of the following had launched the Sanitary Marts Scheme? / &=z
A" AT FT A7 e Har?

1. Ministry of Health and Family Welfare / T&amess Ud qaT¥ FeAT0T HATAT
2. Ministry of Social Justice & Empowerment / ST =TT ST sAfermTar #amed

3. National Safai Karamcharis Finance & Development Corporation / Tgi HHTS FHATI
ERRCRCEIRETE)

4. Ministry of Urban Development / gt farme 3T
Correct Answer :-

« National Safai Karamcharis Finance & Development Corporation / TT81T TS FH=T
O v o e

24) The universal energy carrier in living cells is: | Sfdw BifeT A R CERSI digdh AL B3l %
1. ATP/ Qéldl

2. RNA/3RUEAT
3. Oxygen/ NIEREE]

4. Carbon dioxide/ BT SSAHRZS

Correct Answer :-

. ATP/Qé'd'

25) When you insert an excel file into a word document, the data are:/ Sd

MY TS S AT A Cia BIsadl Slad gatsel gl
1. Hyperlinked/ RECREES]

2. Placed in a word table/ & Tlsq dTfeieh] § 3@l

3. Linked/ feies

4. Embedded/ TS
Correct Answer :-
. Placed in a word table/ U st dlfelep] H @I

26) When was the Swarnajayanti Gram Swarozgar Yojana started? / Tauisgdt
TTH TGS TISTAT T SFT HIAH a9 o GaM?

1. 1999
2. 2000
3.2001
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4, 2002

Correct Answer :-

« 1999

27) The Kayakalp Scheme relates to - / FTaTHeq TioAT A9 & & fhaw arafaa &2
1. Health insurance / Tamesy EaT

2. Cleanliness / T@=zat

3. Vaccination / Earaeor

4. Health related research and development / TaTess F¥aeeft AqEETT T fAwH

Correct Answer :-
e Cleanliness / T=gdr

28) How many Acts were amended at one go by the Criminal Law
(Amendment) Act, 2013? / JuTiae fafer (Ferer) srfafaam, 2013 F siaviq U gl I H
forae srferfaamT & gerras a3 13T?

1.3
2.4
3.5

4.6

Correct Answer :-

29) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fiq=r: fFafafEd vy & wyars e (2) & ®=H
TR TIHIT DI AT A ST 2

15.5% of 850 + 24.8% of 650 =?
1. 293
2. 385
3.210

4. 375

Correct Answer :-

« 293
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30) A is 30% more than B and B is 60% less than C. By what percentage is A
less than C?/A, B ¥ 30% 3@ g 3R B, C ¥ 60% A gl A,C I fpa-m ufea=a &9

82

1. 25%
2. 50%
3. 30%

4. 48%

Correct Answer :-
e 48%

31) The disease caused due to the deficiency of Vitamin D in the diet is:/ 3TgIR # fqerfi p 91

F & g arar I P B
1. Scurvy / ¥Hdl

2. Beriberi/ O{1 ¥

3. Rickets/ Rapcq

4. Night blindness/ 1T 3fe/dT

Correct Answer :-

« Rickets/ W

32) A student walks from his house at 5 km/hr and reaches his school 10
minute late. If his speed had been 6 km/hr he would have reached 15
minutes early. Then what is the distance of his school from his house?/ T®

faendf orq = @ 5 fpdl/ae &t wfa | =erar 3 @t 10 fie R A femey vgaar 8| afe as
3ot T1fe 6 fpft/ae - o at 15 fiFie uea faemera ugee 8, ot 9% W A 39S faemay &t
ST

1.12.5 km/12.5 ot
2. 25 kmy/25 fordt
3.37.5 km/37.5 fodt
4. 50 km/50 foeit

Correct Answer :-

« 12.5 km/12.5 Bt

33) To which of the following is the Hindu Succession Act, 1956 applicable? /
g STtesr sfa«aw, 1956 A% § & fora SA=AaT 9X @] grar &7
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1. Jews / FTZT THIS & AT
2. Scheduled Tribe / ST AT

3. Buddhists / atgt
4. All of these / Ik T+t

Correct Answer :-

« Buddhists / =t

34) Which of the following is not a category of vulnerability among children
as described in the Juvenile Justice Act, 2015? / A% ¥ & &t =t Soft, fFenz =TT
srferfaam, 2015 ¥ SgETe gy T FTAr § I Aol TS g2

1. Children in need of care and protection / F@<@ 3T XA F TELq a1
2. Children in contact with law / fafer 3 deqst § Tge arer arerhi

3. Children in conflict with law / fafer 1 Ieerae <= arer areast

4. None of these / 37/ & #IE &l

Correct Answer :-

« Children in contact with law / fafer & seael & T aTer ATl

35) Before the Protection of Children from Sexual Offences Bill, 2012, which
was the only state to have specific piece of child abuse legislation? / I==i &1

A sruret & "@eeror srfafaas, 2012 % 9 FT9T THATT ST F I 919 gA a8 I UF fafoee
fafer ar?

1. Goa/rmET

2. Delhi/few=tt

3. Maharashtra/9greTy
4. Karnataka/#Ates®

Correct Answer :-

« Goa/raT

36) The Sati (Prevention) Act, 1987 was a law enacted by the Government of
- / Tt (Trramw) srfafAam, 1987 w9a To & e g srfarfRataa e = an?

1. Maharashtra / #g1g
2. Rajasthan / TrsteTa

3. West Bengal / 9fsy awmer
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4. Gujarat / TS a

Correct Answer :-

« Rajasthan / TSt

37) Which of the following is used for modulation and demodulation? / g &

q B A1 ATga 3R SHHTsgaR™ & e SuahT fawar smar g2
1. Multiplexer / AR

2. Modem/ HisH

3. Gateway / Ticd

4. Printer/fiic}

Correct Answer :-

« Modem/ HIgH

38) Prabir started walking towards South. He took a right turn after walking
10 m. He again took a left turn after walking 20 m. In which direction is he

facing now?/Wd1R, Sf30r & 3R TeHT URY HXar 81 10 Her Ieq & q1¢ 98 Srff 3R 43
1T 81 20 Hew 9o & q1¢ 98 YH: 91 3R g o1dT 21 39 I9HT1 g fhy fazm #t ik 82

1. South/ <&
2. North/3«iR

3. West/qigH|
4, East/tl,_:qc

Correct Answer :-

« South/gf&mr

39) If a book is sold at a profit of 10% instead of at a loss of 10%, then
seller gets Rs.80 more. The cost price of the book is: /H%@Wﬁ 10%

BT B 3UET 10% 1Y W 94T 91, 1 fashaT &1 ud 80 31fU® U 817 | [&a® &7 Hd I
&

1. Rs.400/3=.400
2. Rs.620/%.620
3. Rs.580/%. 580

4. Rs.420/3%. 420

Correct Answer :-
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« Rs.400/3.400

40) Which of the following option is not true about the Prevention of Women
from Domestic Violence Act, 2005? / =T Z4T & wigar €2 sitarf«aaw, 2005 qeaweft
7 & & FFaT e ot 981 87

1. “child” here refers to person below the age of 16 / =& sffafAaw & “arars” &1 31 & 16 a9
q FH 39 T ATH

2. It extends to whole of India except Jammu & Kashmir / g srfarfaae S i wewie
TBIEHT T AT § AN &

3. Both of these / 3UI=k 2T
4. None of these / 3% & #IE A&l

Correct Answer :-

« “child” here refers to person below the age of 16 / =0 Afa==wW & “aTets” FT 7F g 16 a9
o FH 39 T ATh

41) Which of the following is true regarding the Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013? /

AZATSA T FrAEA U< AR Scfiew (o, gfaae six s sfafqaw, 2013 ge=i e da
HET fashed Tat 7ol 872

1. It is applicable to whole of India including Jammu and Kashmir / 7g sifarf==m s+ T
FOHIT 2T T AT § AT &

2. It lay the rules for constituting the Internal Complaints Committee / g srafa forwmra
AT 7 T4 Fd &1 Heer aar g

3. Both of these / 39%I=F 241
4. None of these / =78 & IS Tl

Correct Answer :-

« Both of these / I9I=F =T

42) DIRECTIONS: In question given below, there are two statements followed
by two conclusions numbered I and II. You have to take the given
statements to be true even if they seem to be at variance with the
commonly known facts and then decide which of the given conclusions
logically follows from the two given statements, disregarding commonly

known facts./fId%: R fRu MU U= & & $UF 3R ITF a1¢ & f~ropd 1 3R 11 faw e &1
3MYD! T 7T QY HYAT B T AT @ HA g1 3 Fayrd a2 A =1 udia g gf 1 aaft
frsput @) ufew fFr au Fifsme fp few e fAewl & 9 S99 -31 e faw e sy &1
THHITT U I SRV BT g, qTe FagTd a2 $o ¥t gl

Statements: /PYA:
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All talented persons are trustworthy./?[‘l-ﬁ ufayT=Imen ari%r, ﬁ'&ﬁ'ﬂﬁ?l

Some trustworthy are musicians./$o fazaraur, WfilaeR g1

Conclusions: /fea:

I. All talented persons are musicians./ﬁ'l-ﬁ yferyT=Imen ?J!T%L Wﬂwﬁl

II. Some musicians are not talented persons./$® IMa®R, UfayTmen fd T8
gl

1. If only conclusion I follows /ﬂﬁ%ﬁﬁ'@'ﬁl &WW%

2. If only conclusion II foIIows/qﬁWﬁEh‘Gf II &IT-ETUTW%

3. If either conclusion I or II folIows/H%qT?ﬁﬁﬁb_ﬁf 19111 HWW%

4. If neither conclusion I nor II follows /Elﬁ:f?ﬁﬁ'@'ﬁf 198l &WW%

Correct Answer :-

« If only conclusion II follows/df¢ Fad sy 11 TR BT §

43) Who will be the Chairman of the Board of Management of the National

Children’s Fund? / TSI 9T Y & TS&F 1S 6 ST HIT g7

1. Minister in - charge of Department of Women and Child Development / ®fgaT Ta aTe
foreTe foramT & w9 w5t

2. Secretary, Department of Women & Child Development, Government of India / ==,
HqigeT ua arer e feramr

3. Financial Advisor Department of Women and Child Development / fa<fa g«mgTe,
AigaTsl AT oY a1t fawre

4. Director National Institute of Public Cooperation and Child Development / Rz erF, S
TEIRT U a7 TaahTe & T T8

Correct Answer :-

« Minister in - charge of Department of Women and Child Development / ®fg=T Ta aTer
foreTe AT % TaT-g w3

44) When was the Rashtriya Swasthya Bima Yojana launched? / Tfg¥ Tare=g
AT AT T A A a9 F g o71?

1. 2005
2. 2006
3. 2007

4. 2008

Correct Answer :-
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45) A and B can do a piece of work in 8 days, B and C can do the same work
in 12 days and A, B and C together complete the same work in 6 days. In
how many days can A and C together finish it?/ A 3iX B foefl s o s fef A =
& g, B 3R C It 10 1 12 fai & w7 IFd 3 U1 A, B, 3R € i+ fraex St s &
6 o7l o &% & 8, a1 A 3R ¢ e fpam fe=t & St &0 &1 @1 o2 T@d 22

1. 12 days/12 f&q
2. 8 days/8 faq
3. 14 days/14 fe7

4.16 days/16 fea

Correct Answer :-
. 8 days/8 fea

46) How many desirable components are recommended in the National

Rurban Mission? /Ty &« 9+ & (qutq fohaw aifea g 6t Rrerieer i w=i?
1. 12
2.13
3.14

4. 15

Correct Answer :-

47) Amnion surrounds-/3¢d el %—
1. Allantois/ 3URTUIST I

2. Chorion/ SIRTg Gl

3. Yolk sac/ UTd ST &1

4. Embryo/ YOI Gal

Correct Answer :-

e Embryo/ YUI Cal

48) Pointing towards Ansh, a man said, “His mother is the only daughter of
my father.” How is the man, related to Ansh?/ 3P @ﬁTs'SIIRT WEI{, Udh


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

gna:ﬁm%%“waﬂﬁ,ﬁ%ﬁmaﬁmﬁgsﬁ%l"aganacﬁam@mwmﬁm
?

1. Daughter/QBﬁ
2. Sister/dgd

3. Maternal uncle / HMHT

4. Wife/Tci!

Correct Answer :-

« Maternal uncle / HMHI

49) What is the basic service unit of cellular telephony? / IR ¢alBI-l Bt

gt Aar g1 T 72

1. PLMN service area/ PLMN Ifdq uRan

2. Cell/ T

3. Location area/ SICRGRNETI]

4. MSC/VLR service area / MSC/VLR dfdg ufan

Correct Answer :-

. Cell/ 4@

50) What is the smallest and biggest font size on the Formatting toolbar?/

BIHET gaaR ¥ Ta9 Bidl 3R Iad TSI Bie q15el 1 82
1. 8 and 68/ 8 3R 68
2.8 and 72 /8 3R 72
3.6 and 68 / 6 3R 68
4.6.and 72 / 6 3R 72

Correct Answer :-

« 8and 72 /8 3R 72

51) DIRECTIONS: Find out missing number from the figure given below./

frdar: i § i spfa # gu w=n gra Sl

/H/T\
ﬂ

F

1.-30
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2.13
3.18
4. 30

Correct Answer :-

52) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ féxr: fFrafafaa uig ard &1 amyd® srea w7 - feg me uy
& I Gyl

Abhijeet wants to start a small business and he is planning to raise funds
from different sources as shown in the following pie chart:/ Hﬁl\‘rﬂﬁ@@ﬁm
GATY IR= BT 18T 8 3R a8 faf = el F 47 e &1 GIsH=1 941 387 81 91 fop urs
a1 § fea gan g1

Raised from Saving/ddd,
investors/FHdw® 76000

# grex ofir,
129000

Borrowing from

friend s.n"v'!:lﬁfl" |

IUR, 22000
Bank Loan/d®
=T, 145000

What is the ratio between the amount of funds raised from the friends and
the total amount of funds raised?/ SRl | UTW (T TUT T UTGT IR BT HH:

3UTd 1 82
1.22:417
2.145:417
3.23:139
4.43:139

Correct Answer :-

o 22:417

53) Which of the following state is the only one to be excluded from the
Backward Region Grant Fund Programme? 3% & & ®9971 sahatar asa fUseT &
s e Frfss & LY arar?

1. Delhi / fawetr
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2. Goa / raT
3. Madhya Pradesh / @ega=er
4. Maharashtra / ageTg

Correct Answer :-

« Goa /mET

54) The vitamin that contains a metal ion is:/ ST faerfiE %ﬁmﬁ yrq S+ JufRd a?lT %
1. Vitamin A / fderfi= A
2. Vltamln B12/ ﬁﬂ&ﬂ B]2

3. Vitamin B / [deTi® B
4. Riboflavin / JSETGATIT

Correct Answer :-

e Vitamin Blz/ ﬁ?l‘&l:f B12
55) Mammalian embryo is directly surrounded by:/EIHTRY BT Yur e firy gl ?-

1. Allontoic cavity/ Tici® el
2. Amniotic cavity/\”m—"ﬂ?ﬂﬁ el

3. Yolk Sac cavity/ gD el
4, None of these/ E:F.ff I aﬂ's‘ qﬁf

Correct Answer :-

e Amniotic cavity/&m:ﬁthﬁ el

Topic:- Grad_Managerial Skill

1) is a socially defined position in a society./ TuTer # Ao 2fY A uRyifid uey
fRufa &1 wga g1
1. Role/ YffanT

2. Interaction/ 3{=fshar

3. Status/ 3RAd (Rew)
4. None of the above/ SWRIed H A ﬁ'é’ :I%T

Correct Answer :-

« Status/ 3RIEd (R<9)
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2) The smallest social group is:/ TTY BIeT IS qqg %:
1. Family/ IRaR

2. Village/ Tiid

3. Country/ o

4. State/ Y

Correct Answer :-

+ Family/ GRAR

3) Which of the following teaching aid requires a story?/ E"-Tl?r T fory SreaTu= erdar & ﬁ-nz HErT
F1 AaGDH T Bl 82

1. Chart/ e
2. Puppet/ Fo"ﬁ?lﬁ

3. Demonstration/ AT
4. Poster/ e

Correct Answer :-

« Puppet/ H3Yddi!

4) A single printed sheet of paper which contains information is called:/ @RS &t TH 3fdbdl gigd
e, R STt gt 8 FHgand gl

1. News Story/ JHER 4LG] QN Eﬁ)

2. Leaflet/ SRAGR
3. Folder/ BIeeR
4. All of the above/ Judad it

Correct Answer :-

o Leaflet/ SRdAER

5) Quality of leader is:/ AdT/Aqga@®at BT T
1. Influence/ THTd

2. Support/ TgaNT

3. Guide/ AFTGRM HAT

4. All of the above/ Judad Tt

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

« Al of the above/ Sudad Tt

6) Poster is a form of:/ e
1. Visual aid/ T gl 3UHRUI
2. Audio aid/ 4T TgD JUHRUT

3. Printed aid/ gfad Se—IH-Tri
4. All of the above/ G'Cl?iTﬂ it

Correct Answer :-

o Visual aid/ €T g 3UH[

7) Which among the following is not a cause of growth for cities?/ ERLE:| ﬁT-l, TR & Tg BT
PRI T8I 82

1. Trade and commerce/TUR TG gToeg

2. Industrialism/3IENTdTG

3. Development of transport[lTRH’eFr CARREAR]

4. Hygienic outlook of people/FﬁTﬁ FI WD AAIG] DI

Correct Answer :-

« Hygienic outlook of people/TlTT &1 WS d@lG! €D 07

8) CANCELLED

Extension education is:/ o Rrem . %:
1. Formal education/&ﬁtﬁﬂw frem

2. Informal education/ 3o fRrem

3. Out-of-school education/fd=ITed--aTgR fRuaf

4. None of the above/IWRiad & ¥ ®Is ol

Correct Answer :-

« Out-of-school education/faeTea-T-aT8R e

9) Which Five Year Plan increased the economical growth of the country?/ fry veadfa afemT A
31 #t anffe gfs o st #1?

1. Fourth Five Year Plan/@f Uaas{a GierT
2. Fifth Five Year Plan/Uid! Uerasig a1
3. Sixth Five Year Plan/@d! d=raufg aisr1
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4. Seventh Five Year Plan/31dd! U=ayfg gieiT

Correct Answer :-

« Seventh Five Year Plan/ITdd! taradila drmr

10) Which of the following is not a feature of urban community?/ 39 9§ 1, g qYca @t
fa=Ywan 781 32

1. Face to face relationship/ SMHA-THA BT T
2. Complex life/ Sfed Siad

3. Materialistic/ uﬁﬁwﬁr

4. Glamorous life/ EEIEICCINISIGE

Correct Answer :-

« Face to face relationship/ 3THA-HH BT JIe=

11) Group discussion changes peoples behavior through:/ I9qg T4t & WA J G b

HAER P! TG g

1. Teaching/ 3199

2. Fighting/ Fﬁ'ﬁf%ﬂ?ﬁ
3. Shouting/ IESSIES

4. Interacting/ 3f=afehar

Correct Answer :-

 Interacting/ fdfebar

12) Which one of the following is not a youth service scheme?/37H & ®I- TP gaT A4l FIoHT A8l
?

1. TRYSEM
2. National service schememgﬁ GRS
3. Nehru Yuvak Kendra/eIERR Ygdoh g

4. ICDS

Correct Answer :-

» ICDS

13) Instructional aids are used by a teacher to:/ 3D gRT arg%smma? TS -AHRAl &1
ST ¥ fore fosam e 31

1. Glorify the class/ D&l Cal Faxdl UaH B



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

2. Attract the class/ D&l P MBI B

3. Clarify the concept/ 3dYRUN WY B

4. Ensure discipline/ 3R AT &

Correct Answer :-

« Clarify the concept/ dYRUIN WY P

14) Effective programme requires:/ YHTIRITeN PRSP H & ﬁﬂ;{ STaRTS gial %I
1. Planning/ fAaeH
2. Controlling/ g0

3. Evaluation/ Gl
4. All of the above/ Iuad Tt

Correct Answer :-

« Al of the above/ Iudad Tt

15) All research must begin with: /JHI AT PTRV __ & Y GﬁT ?IT%Q:
1. Hypothesis/IR& a1

2. Result/aRoma

3. Conclusion/ﬁﬁlﬂf

4. All of the above/B'CRiHH it

Correct Answer :-

« Hypothesis/aRa a1

16) The information which the communicator gives to the audience is:/ ARGl diarait 1 S
a1 31 & I8 o

1. Action/ HrIATE!

2. Message/ BSER

3. Behavior/ JdgR

4. None of the above/3WRIad H ¥ $IS &l

Correct Answer :-

« Message/ T

17) “Education is the manifestation of perfection already in man” was stated by:/ “Rrem Ilﬂ'l?ﬂ?f
Tgd ¥ faemr ufguiar &1 ywdierur 37, a8 3 PeT ATl
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1. M.K. Gandhi/ TH.%. Tie

2. R.N. Tagore/ 3IR.UH. SR
3. Swami Vivekanand/ W faddsr<
4. Abraham Lincoln/ 3sTeH foid

Correct Answer :-

« Swami Vivekanand/ W fdde <

18) “Creation of a sound mind in a sound body” is stated by:/ “WO® IR H W A9 $1 ITAT", T8
AFEE:

1. M. K. Gandhi/TH. 3. Tt

2.G. S. Thompson/Gﬁ.Qﬂ. jeeri
3. Aristotle/3R¥J

4. Plato/wic!

Correct Answer :-

¢ Aristotle/3R¥J

19) Communication is the art of:/ JTR FI par gl

1. Listening to other/ GERI &I g
2. Speaking to a group of people/ ANl & THg ¥ a1 PR

3. Interacting with people/ @1 & T S=fehaT B

4. Writing letters to people/ @R &I U fera—

Correct Answer :-

« Interacting with people/ AT & TTY ffdhar 3

20) Which one of the following will be categorized as an achieved status: lsﬂﬁﬁ 3 v
Rufa ot Joft § T s

1. Sex/ et

2. Age/ 31§
3. Marital/ daTe® UG

4. Caste/ STIfd

Correct Answer :-

« Marital/ darfes UG
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21) Video conferencing is an example of:/ SIS STHIRTT T 31800 B
1. Folk media/ S HIEHH

2. Print media/ flle ATeAH

3. Interactive media/ 3fafdhards (Sexfdea) ATeqH

4. None of the above/ SRIgd H I PIg gl

Correct Answer :-

« Interactive media/ 3fafdharei® (Sefaea) Arey

22) Appreciation is a form of:/ WRTg-Tl BT TP =Y ?I

1. Development/ fa&r™
2. Motivation/ PRIl
3. Participation/ JgHIRTdT

4. Cooperation/ Hg&®HIRdT

Correct Answer :-

« Motivation/ OUT

23) Who is the chairman of Planning Commission of India?/ HRGT Hfa smarT &1 Sleel CaC| ﬁ?ﬂ

&

1. Prime Minister of India/HRd & UYFHAI
2. President of India/HRd & JgUfd

3. Home Minister/7g Hait

4. Planning Commissioner/:'ﬁﬁ ST

Correct Answer :-

« Prime Minister of India/HRd & UFHT

24) Who are the members of Planning Commission?/ifa 3TN & T P %'?
1. Prominent Public ﬁgures[qﬁi@?r sy afad

2. Administrators/URIT=

3. Technical Experts/d@-iie! faRIws

4, All of the above/B'CRiTﬂ it

Correct Answer :-

« All of the above/3udad Tt
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25) What is the vehicle of Culture?/ IRPIA HT A8 P 82
1. Technology/ Tt

2. Man/ ¥
3. Society/ JHN

4. Language/ HNT

Correct Answer :-

» Language/ HTNT

26) Extension Education has it's roots in:/ flaR Riemerga_ #R)
1. India/ HRd

2. USA/ JuET

3. UK/ faies

4. Sri Lanka/ glcieht

Correct Answer :-

« UK/ fea

# 3reATy St frad urea=El g 8:

27) A fixed curriculum for teaching is in:/

1. Non formal education/TR-3NU=Ras &
2. Formal education/3To=ie fRiem

3. Adult education/Ia%®s (Uig) fRref
4, Informal education/&'*ﬁq?ﬂﬂ? fRreq

Correct Answer :-

« Formal education/3u=niRe &

28) What is monitoring a group?/ d4g P AR &A1 |00 %?
1. Designing of programme/ HRIHH fSAZ BT

2. Implementing a programme/ FHRIHY HRfad BT

3. Controlling a group/ 99g P! Ffd e

4. Helping a group/ ¥9g &I Tgrdl &A1

Correct Answer :-

« Controlling a group/ IHg &1 FAAd BT
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29) Maximum participation of students during teaching is possible through:/ & HregH @,
JATY & SR faenfiay &1 sftean Jgurfiar wwa 81

1. Lecture method/ AT fafer

2. Textbook method/ UTaIg%&de fafe)
3. Demonstration method/ TR fafy
4. None of the above/ SR H T ﬁé T8l

Correct Answer :-

« Demonstration method/ UegH fafdr

30) Which Five Year Plan started from 1st April 19562/ 1 3[0d 1956 &1 ®IH-3 Ugadfa FiHT
AR™Y g8 A2

1. First Five Year Plan/Ugcll UIaS1d TroT
2. Second Five Year Plan/guR! Uaqylg gierr
3. Third Five Year Plan/das} Uaasg a1
4. Fourth Five Year Plan/af Uga¥{g O

Correct Answer :-

« Second Five Year Plan/gux! Gaaui dieiT

31) Tape recorder is:/ R@leITd Rl
1. Electronic aid/ SAIagI-e JgRIDh-3UHUI

2. Printed aid/ gfad HgrIh-Tr

3. Visual aid/ €T Hg—d SUHU]

4. All of the above/ Iuad Tt

Correct Answer :-

« Electronic aid/ $Q1Qqu9 delddh -G U]

32) Who is the Father of Sociology?/ JHISRIRA & SF® B A?
1. Comte/ IR

2. Durkheim/ g&H

3. Spencer/ WWR

4. Cooley/ Feit

Correct Answer :-

« Comte/ B
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33) Joseph Stalin implemented which Five Year Plan?/ SR wifer A -0 veadfa ateAr
Praitad a1 A2

1. First Five Year Plan/Ugcil Udasig eI

2. Second Five Year Plan/ga<! Gaaufg e
3. Third Five Year Plan/dTs} TS IieT
4. Fourth Five Year Plan/a0 Ugau{g i

Correct Answer :-

« First Five Year Plan/Uget Ugas g T

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./ fAd=r: fAafefad e
P UFYED JgH? IT -4 33 T sglawadt wxal & w8t fave &1 991 39|

Our Prime Minister’s announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR UYTHA = T (PURA - WiaTsfET s+ gfaf-dter 571 wva uivars arf amdfor &= § et giaursi
Pt UeralY) ATHS T UTH fIBTH STdHH Ft Tven B 31 59 PRI H § gfx BT IruTaney ara uritor
&= 3 vga @1 Il 3R 37 IR A yeR &) wfeefadt & swf, 3 § - aswt, uivass wd fagaa
Ffaefad! & wu A Hifes FAfeead); fQyig efteTa geve vd gaar menfiet daret & o d
sﬁaﬁﬁmaﬁ%ﬁala@ﬁf&m@uﬁr&mwﬁ%wﬁmaﬁw 3R IR FAfaefad,
vl 31y o1 fawre eRm, fari T o AT 1 Ut SUS BT wdtad Hed o1 &1 & 6 W il A
| THIT 50,000 TXT IR S Sl ial Y S HrAfaefadt F AR AP T fFHra $81 T
fayfaemea sraA- Hﬁmﬁwﬁmﬁwmaﬁ?mﬁ?aﬂﬂwmmmml@%w
F &7 ° g1 oM a1 Y & UPR, STd UG-, W SdTe Ud fauuH W faar s afgul

Prime Minister announced development of:/ YUTHH=1 A 379 A {5y &7 & ™ &1 Aiwon $1?
1. Rural areas/JTHior &1

2. Urban areas/gl &3

3. Tribal areas/SITSIdY &

4. None of the above/STRIad & § I3 Tal

Correct Answer :-
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« Rural areas/JmHIor &%

2) DIRECTIONS: Read the passage and answer the questions that follow./ frd=n: Frafafea T
P UFYHD JegH I9 -4 &3 T sglawadt wxal & 96t faved &1 997 $3|

Our Prime Minister’s announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR UYTEE 3 QT (PURA - WarsfET s it 371 wva uivars arfa smfior &= § wedt glaansit
P Yerft) IS Th I faepT STdchH &1 givon &1 g1 59 $riepd # gig 3 grira-sit ara Jrfior
&3l B ugaE B ST SR I8 IR AU ueR 3t FHfaefad & et 3 § - Jewl, ufvasw wd fagaa
FHfaefad! F A Hifae sAfeefad; fRyata Tdtemm sexaie td gan e Jaret & = o
sﬁmﬁ%ﬁﬁlmmmuﬁwm%wﬁmm 3R IR FAfaefad,
fRrerdt 31y 1 fawra g, fwmil Td o Wi i U SUS &1 Hatw ed et | §%1 & 6 W il A
 TIHIT 50,000 TXT HIFART S Sl ia Y Sfdfes pAfaefadt F AT I 1 o $81 &
fayfaemea sroA- mmﬁwmﬁmmﬁm%mmmmmlﬁw
F &F U YA M a1 FY & SR, 9 Ya-uH, T SdTe Td g wR far == @fgul

How many types of facilities were announced?/f%dq ToR &1 gfaursi @t aiwom 1 w2
1. One/Udh

2. Two/a

3. Three/dH

4. Four/dR

Correct Answer :-

3) DIRECTIONS: Read the passage and answer the questions that follow./ frd=n: Frafafea T
P AFYES UeHR 39& -1 33 T sgfawpalt w=al # Ot fowew &1 997 31

Our Prime Minister's announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
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should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR YT 7 T (PURA - WarsfET srdq efafedter 571 wva uivars arfa amftor &= § wedt giaansit
3 yerailh) ATS TP U fIeTa i It Tiven B 31 59 ey # gf B qrirane ara undtor
&= 3 vga @1 Il 3R 37 IR A yeR @) sfeefad § swf, 3 | - ast, uliass we fagaa
FHfaefad! F U A Hifae sAfeefad; fAyata Tdterm sexaie td gan e Jarei & = o
gﬁaﬁﬁwaﬁ%ﬁﬁlwm@uﬁr&mwﬁ%wﬁmaﬁ%ﬁﬁ 3R IR FAfaefad,
vt 31y o1 fawre §R M, el T o AT 1 Ut U BT watad Hed e 4% & 6 W il A
§ TIHIT 50,000 TXT IR S Sl Tal B S Hrfaefadt F AR Y 7 fFom H81 T
fayfaemea srvA- amﬁaaﬁwmnﬁwmaﬁ?mamwmmwmls%w
F &7 ° g1 OF a1 Y & USSR, Sd UG-, W SdTe Ud fauuH W faar s afgul

Physical connectivity is in the form of:/ifa® FAfFfad fFad Fu # grfi?

1. Road/dgsdh

2. Transportation/gRag
3. Power connectivity/fdgad CRICHCE

4. All of the above/Sudad Tt

Correct Answer :-

« Al of the above/3tad T+

4) DIRECTIONS: Read the passage and answer the questions that follow./ fad=r: frafafaa e
B AFYAP UgH IqP 1 &0 T ggfamed! Uzl | et faw ey &1 a9 $e |

Our Prime Minister's announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR UYTHA = T (PURA - WarsfET s gfafdter 571 wva uivars arf amdfor &= § et giaursit
P yerft) IS Th I faepTa STdeH @) givon @1 81 39 $riwpd A i o griraseit ara amfior
&= 3 vga &1 Il 3R 37 IR A yeR @) pfeefad § swf, 3 § - aswt, uivass v fagaa
FAfeefad F A Hifae sAfead; Ryaa Thtemm sexie vd gaar wenfie) Jarsi & =g o

aﬁ%ﬁﬂw@ﬁf&mmuﬁr&mwﬁ%mﬁmaﬁw 3R IR FAfaefad,
vl 31y o1 fawre eRm, fart T o AT 1 Ut SUS &1 wdtad Hed e & & 6 @ il A
| THIT 50,000 TXT IR S Sl ial Y S HrAfaefadt F AT AP T fFHm™ $81 T
fayfaemea sraA- mmﬁwﬁmﬁwmaﬁ?mﬁimmmmmlﬁﬁ
F &7 ° g1 oM a1 Y & UPR, Sd Ya=UH, W SdTeH Ud faquH W faar s afgul

What will the farmer get best price for?/fFam &) fraeT gafaw g e
1. Their farms/GWI%f Wl &
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2. Their cattle/&rclef HARMY &1
3. Their produce/G{CI'rﬂ 3US Bl
4. Their homes/Gi'Clef AHH! &

Correct Answer :-

« Their produce/3d- 3US &1

5) DIRECTIONS: Read the passage and answer the questions that follow./ f321: fRaferfaa e
P UFYED JegH? T -4 33 T sgfawadt wxal & w8t fawe &1 9971 $3|

Our Prime Minister's announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR YT = [T (PURA - WarsfET s gfafdter 571 wva uivars arf amdfor &= § et giaursit
3t UerailY) ATHS TP U et HTdwH Bt Tiven B 31 59 Sriwy # gf B qrirane ara urndtor
&= 3 vga @1 Il 3R 37 IR A yeR &) Hfeefadt § sref, 3 | - aswt, uivasw v fagaa
Ffaefadt & wu A Hifes sAfeead); fQyig eftea gevae vd gaar menfiet daret & o d
sﬁ%aﬁ%ﬁﬁw@ﬁf&mmuﬁr&mwﬁ%wﬁmaﬁw 3R IR FAfaefad,
vt 1y o1 fawre §RM, fari T o AT 1 Ut U @1 wdtad Hed e &1 & 6 W il A
| TIHIT 50,000 TXT HIAART S Sl ial Y S HrAfaefadt F AT Y T fTHT $81 W
fayfaenea smaA- Hﬁ&hﬁm%mﬁmﬁﬁnﬁm%mmmﬁmmlﬁﬁ
F &7 ° g1 oM a1 Y & UK, Sd Y=, WE Sdre Ud faquH R faar s afgul

How will the nation develop?/IT¥ &1 faera HA ﬁTIT?

1. Through farmer’s connectivity[ml:ﬁ P HAfGEfdC! B TR
2. Through economic connectivity/&rr% FAfefadt & SIkT
3. Through people’s connectivity/@RT &I HfGeide] & SIRT

4. None of the above/STRIad & J IS Tal

Correct Answer :-

« Through economic connectivity/3ffie FAfdefact & AT

6) DIRECTIONS: Read the passage and answer the questions that follow./ f321: fRaferfaa e
B AFYAP TgH ITP 1 &0 T ggfamedt uzAl | w6t fawey &1 99 $|

Our Prime Minister’s announcement declared a Rural Development Programme called PURA-
Providing Urban Amenities in Rural Areas. The programme involves identification of rural cluster
with growth potentials and creating four different types of connectivity-physical connectivity in
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the form of Roads, transportation and power connectivity; electronic connectivity in the form of
reliable telecom internet and information technology services. Knowledge connectivity in the
form of good educational and training institutions and market connectivity that would enable
development of the nation, farmers and others to get the best price for their produce. Out of
6lakh villages in the country about 50,000 PURA complexes would emerge and this would enable
development of the nation through economic connectivity of the villages. Each university would
work towards this end in their region and come up with the model appropriate to the state. They
should consider the type of farming to be chosen in the area of cultivation, water management,
food production and marketing./

AR UYTHA = T (PURA - WarsfET s efaf-dter 571 wva uivarsr arf amdfor &= § et giaursi
3t Ueralt) ATHS TP U fIeTH STdw Ft Tiven B 31 59 Sriwy # gf B qruraney ara undtor
&= 3 vga @1 Il 3R 37 IR A yeR &) sfeefad § wwf, 3 | - ast, uivass we fagaa
FARIIE & ¥ F ifad FAfFefad; fAywia Sdiiem fexe Td g wenfie darel & wu &

ﬁ%ﬁﬁlﬁﬁf&ﬁ@ﬂﬁt&ﬂﬂﬁ%ﬁﬁmaﬁ%ﬁﬁ 3R IR FAfaefad,
vl g o1 fawre g1, i Td o AT 1 Ut SUS @1 watad Hed e 4% & 6 W il A
| TIHIT 50,000 TXT IR S Sl Tal Y i HrAfaefadt F AR Y 7 fFora F81 T
fayfaemea srvA- mmﬁw%mﬁwmaﬁ?mamwmmﬁuwmm%ﬁ
F &7 ° g1 OF a1 Y & UPR, d UG-, W SdTe Ud faqoH W faar s afgul

What should university consider?/ﬁmﬂﬁ &1 f5a W faR s HT%'Q?
1. Type of farming@fﬁ DI YR
2. Water management/sic Ue#H

3. Food production/dTe] 3G
4. All of the above/STdd Wit

Correct Answer :-

o All of the above/BtIgTﬁ et

7) DIRECTIONS: Read the passage and answer the questions that follow./ f3=r: fRaferfaa e
P! AFYED YgH? ST -4 33 T ggfawmedt uxal & wel fAwe &1 9a7 H3|

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

P HI&RET Fi= (NLM) H1&RdT Y e, forem Td Siaiora & i &t offofd o 3R o ¢fes
Siaq ® SHT UGN 1 B gl & 7Y A GRUIRT Har 81 NLM BT 980 J1&Rar # safaRar v
PIATHAP HI&RAT B HBATHSD GRYAT B YT B A A FEl M g 1PTaTAP HI&RaT b 3ol I

TRIfRIHRT 3R Sia uraT § GUR STRIA giaT 8 | &Rl & 9 fR1e & Ay gafed fear mar g
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o wRa & iU 91 snyRyg fadivary, Ity @ o Terar auT givpfae ggYfH $1 3R TewT
T A €1 afaurRraY #) e ve ufvar e, vaiaror GRevr & Aed, Wies &) smeR &1 |
o wd AR IE #1 yfiear F IR # SEA-WRaa B WeTied fear sirar g erafdrsar 1 3 &
Y & Ied IUUNT & FIT saraeaiie e ® gUR| 3R 1y &, U1 I & Jred | St o
H1 gl ot AR @, Siftrr (RaA) 1 te Aeayut gew € 1as Rl #) siftrm, e, wd st
PTal P MUY A She & ST UAT HiTST T g # Herd T4 W Aferd 31 5= ST, =TT T
fawaR &) wAfrd $37 arelt Rrem yomelt & wreaw § o ure fear o 9o g1

NLM defines literacy as skill of :/ NLM &Rl &1 P DIYA S =9 § GRUIRG BT
gl

1. Reading/Ye-Tl

2. Writing/aa

3. Arithmetic/3{oTiOTd

4. All of the above/Sudad It

Correct Answer :-

« Al of the above/3udad T+

8) DIRECTIONS: Read the passage and answer the questions that follow./ fAd=r: fRafefad weiw
P! ATYEP TP 9P - fed T agfawed] w=Al | 9al fawey &1 994 +¥|

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

AP HI&RET Fi=H (NLM) H1&RdT S e, forem Td Sia1fora & iera ot offofd o 3R o ¢fes
St ® SHT TN B3 B gl & 7Y A GRUTRT Har 81 NLM ST @80 &Rl # e vRar v
PTATHAP HI&RAT B TBITHS TRYAT B YT B A A $El M g IPTaIAP HIERdT F i I
TRIfRT o1 3R Sita=T TuraT A GUR TR Thar @ | AeRdr B Irag Rigm & Ty gifea far man g
o WRa & wfu 3t smuRayd faivang, Tt wRe o) Terar auT Sivpfad gEf oY 3R TE
T A €1 afauRraY &) ey vd ufvar e, vataror GRevr & ded, Jis &) smeR 81 |
oy wd AuAe A9 #1 yfiear F IR # SFA-WRea B WeTied f6ar siran g 1erafdrear &1 3 &
Y F SJdIed ITUNT & T saraaiie Hivra & gUR| 3R A1y &, ar I & A1 F - 3
P1 gyl ot ARt @, Sftrm (WRaA) 1 te Aeayut uewd € 1as Rienfiay +) siftrm, e, wd s
PTal P MUY A Se & ST SUAT HfTST T g # Herd T4 W Aferd 31 3= ST, ™= U
fawar &) waferd $37 arelt Rrem yomeft & wrerw § o ure far o 9w g1

Functional literacy results in:/ FATHS TT&RaT A HIGE] ﬁ?ﬂ/ﬁ?ﬂ %I
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1. Quantity of life/ St &t AET

2. Quality of life/Sitd @1 ord
3. Improvement of life/Siia= & JUR
4. Increase of life/Sftad o gfa

Correct Answer :-

« Quality of life/SIa=T 1 TUTar

9) DIRECTIONS: Read the passage and answer the questions that follow./ fAd=r: frafafEa e
B AFYAP TgH IqP A &0 T ggfamedt uzAi | w6t fawey &1 99 $|

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

PTT WERAT R (NLM) F1&RaT S e, forast ua Siafora & SIra ot offofd 37 iR 3 e
Siaq ® SHT UGN 31 B Al & 7Y A RIS Har 81 NLM BT @80 J1&Rar # srefaRar v
PTATHAP HI&RAT B FBATHSD GRYAT B YT B A A Pl M g IPTaieAP HIRdl b el I
TRIfRIHRT 3R e uran # GUR STRIA giaT 8 | F1&Rar & G fR1em & ary gafed fear mar g
Ror wRa & wfau™ ot snuRyg faRivang, e whe= o gerar aur Aipioe ggyfi 31 iR e
T A €1 ufauTRra &) e ve ufvar fAaieE, yaiaror @Revr & Agd, Wiew &) e R ¢4 |
fag= ud agnfAe 9 & URIRSaT & IR & SFH-UEA & Nrearied faar sian g 1erafaed o1 of
I F AP ITANT & T sAraaie SIra & GUR | 3R A1y &, U9 ST & Aread | U= 3y
H1 gl ot [SIRTe @, Siftrr (WRaA) &1 e Aeayul gew © 1as RegnfiaY #) siftrm, fieae, wd st
FTaT D1 AU W SieA & WY ST Hias T e § WeH 99111 W aférd 81 578 ST, 38— U
foaR &) TAfrd H3 arelt e yorrelt & wrerw | of wred fHaT o 9o 31

Basic feature of constitution of India is to deepen the:/ YRd & AU BT ATURYS fa=war
BT 3R TG AT &

1. Cultural background/dR&fdd JEYA

2. Social background/SHTSTd 1{8’1@

3. Traditional background/UR¥IRe JEHH
4. Historical background,/Sfdgiiie sy

Correct Answer :-

« Cultural background/IR&Ta® ggYfH
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10) DIRECTIONS: Read the passage and answer the questions that follow./ f3=r: fAufefRaa
TR $ ATTYEP UgHY 39> - e T4 agfaswed] w=al & 98l fawey &1 a4 +¥|

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

AP HIgRET Fi=H (NLM) H1ERdT S e, forem Td Sia1iora & oiera &t offofd He- 3R oo ¢fes
Sita ® SHT TN B3 B gl & =Y A RUTRT Har 81 NLM &1 d80 el # e vRar v
PTATHAP HIERAT B TBITHSD TRYAT B YT B A1 A $El M g ISP HIRaT & 3ol I
TRIfRTH<or 3R Sita=T TurawT A GUR TR Sar 8 | eRdr S qrag Rigm & ary Jifea fear man g
ford WRa & \f3u $1 snyRyg fadivany, Ik §HHA B AT auT Wiepiad gEYH $T 3R TewT
T A €1 afauRraY &) ey vd ufvar e, vataror e & ged, Jidw &) smeR 31 |
o wd AR WE #1 yRiear & TR # SEA-WRaa ) Wearfed fear sirar g 1erafdrsar &1 3 &
I & Ied ST & FIU saraaie Sivra ® gUR| iR 1y &, U1 I & Jredd | St oma
P1 gl ot ARt S, Sftrm (WRaA) 1 te Aeayut gewd @ 1as gl +) siftrm, e, wd s
PTal P MU A She & ST YT HiTST T4 e | HerH T4 W Aferd 31 3= ST, =TT T
fawarR &) waferd $37 arelt Rrem yomeft & wreaw § o ure far o wedr g1

The participants of NLM are encouraged to learn about: /NLM ¥ ufaurfirat &1 F IR A
SA-AReA Ft Wieatfed far s 31

1. Family planning/aRaR FasH

2. Conservation of environment/Taigur TR&fOT
3. Relevance of science/[d™ &1 UEfiiedr

4. All of the above/3Iudad Tt

Correct Answer :-

« Al of the above/3udad T+

11) DIRECTIONS: Read the passage and answer the questions that follow./ fé=r: fAafefaa
TR $ ATYAP UgHY 3UP - e T4 agfaswed] w=al & 98l fawey &1 a4 +¥|

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

AP HIGRET Fi=H (NLM) H1ERdT S e, firem Td Sia1fora & e &t offofd $e- 3R o ¢fe
Siaq ® SHT TN B3 B Al & =Y A gRUTRT Har 81 NLM ST 980 &Rl # srafavRear v
PTATHAD HIERAT B TBITHSD TRYAT B YT B A A $El M g IPTaIAP HIRaT F 3ol I
TIfeTe <o 3R SitaeT TurawT A GUR TIRa Shar @ | AneRdr B qrag Rigm & Ty gife fear man g
o WRa & WU 3t smuRayg fagivang, Tfta wie o Terar aut ivpfad gEfi oY 3R Te
T A €1 afauRraY #) wara vd ufvar AaieE, vafaror GRevr & ded, Wiw & smeR 31 |
oy wd A A9 #1 yfiear & TR # SFA-WRaa ) WeTied fear siran g 1erafdrsar 1 3idf &
Y F SJIed ITUNT & T saraaiie Hivra & gUR| 3R A1y &, urd I & A F - 3
BT gyl ot | ST, SR (W) &1 TP Tgayul yew g 1ag Rienfat ot siftrm, fam=, wd sl
PTal P MU A She & SRT SUAT HfIST T g | Hard T4 W Aferd 31 378 ST, ™= T
fawaR &) wafrd $39 arelt Rrem yomeft & wrerw § o ure far o 9o g1

Awareness is a significant element of: /ST &dl CaRea 'FIEE'{UT TP gl
1. Teaching/3&Tq+q

2. Communicating/IdR
3. Learning/3ffRTH (IRaA)

4. Resea rch/Qﬁ‘EI

Correct Answer :-

. Learning/&r@TIT[ (ﬂ"l@ﬁ)

12) DIRECTIONS: Read the passage and answer the questions that follow./ = fafafea
TR 1 AWHYAP UgH: 9P A &8 T ggfawed! uxl o 98 faweq &1 797 H31

The National Literacy Mission (NLM) defines literacy as acquiring the skill of reading, writing and
arithmetic and the ability to apply them to one’s day- to- day life. The goal of the NLM goes
beyond the simple achievement of self reliance in literacy and numeracy of functional literacy.
The acquisition of functional literacy results in empowerment and improvement in quality of life.
Literacy is integrated with general education which includes knowledge of basic features of
constitution of India, promotion of national integration and deepening of the cultural
background. The participants are encouraged to learn about health and family planning,
importance of conservation of environment, relevance of science and scientific temper for
shaping the future. Functionality is improvement of vocational skill for non productive use of
time. And, also to supplement one’s income through village industries. Awareness is a significant
element of learning. It aims at making the learners capable of shaping their own future through
interlinking of learning, reflection and concrete action. These can also be attained through the
education system that integrates teaching, research and extension./

AP HIRET Fi=E (NLM) H1ERdT S e, firem Td Sia1iora & iR ot offofd He 3R o ¢fes
Sitae # ITHT UGN S P Al & U F GRYTT Ha1 &1 NLM BT 78T TieRar # srefvar v
PTATHD TR BT RS TRl B U H1 AT A Fal 31 ¢ IPTaicHd JTeRdl & 3o
TRIfRIHRT 3R Sita uran # YR TR giaT 8 | F1&Rdl & 9 Rie & 91y gafed fear mar g
fored wRa & \f3u= 91 snyRyg fadivany, Iy §He B Terar auT Wiepiad gEYH $T 3R TewT
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T TS €1 ufauifia) &) @A vd uRaR fAaivE, wafarur TRevr & Agd, Hiew &) 3meR ¢ A
fag= v iAo 9 & URifear & IR & SFA-WEq & Niaried fear sian g 1eraiaed o1 o g
I & Ied ST & e saraaiie Hivra # gurR| 3R J1y g, I1H I & Ared | SOt o
%1 grgut it S, St () +1 P Heayut ged ¢ [ag Rienfiay #) siftemw, s, wd ol
PTal I 3MUT W She & FRY YT HIST T4 g | Herd T W Aferd 31 5 ST, =TT U
foaR &) TAfrd H3 arelt e yorreht & wrew § o ured faT s 9o g1

Education system integrates:/ ﬁT&IT YUTTert T JHH B %I
1. Teaching/3&Tq+q

2. Research/Qﬁ?J

3. Extension/ﬁﬁﬂ

4, All of the above/B'Clﬁ?ﬁ Tt

Correct Answer :-

o All of the above/thgTﬁ ot

Topic:- Grad_Child Care and Education

1) Which are the main source of AIDS:/ Q&ﬂ?ﬂ'ﬂ'@@ﬁﬁ?w%
1. Prostitution/ a'iiﬂqﬁ

2. Saliva/ @R

3. Cough/ PG 3|

4. None of these/3TH ¥ &5 7ol

Correct Answer :-

« Prostitution/ dXAGMd

2) A Mentally retarded child IQ is less than ./ ATFRT® &0 A e sraei
ot gie-afsyr GE AL

1. 88
2. 85
3.86
4. 84

Correct Answer :-
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3) What is important factor in social development:/ Wﬁﬁﬁﬁiﬂﬂ?ﬂmﬁ
T 8:

1. Heredity/d=IhH
2. Gender/feiT
3. Environment/dTdraxuor

4. Heredity & Environment/WGﬁTaﬁW

Correct Answer :-

« Environment/dTdraxur

4) First Develop teeth is:/ YYHIR faofid gid &I 91 gd1 8:
1. Milk Teeth/gY & G&id

2. Permanent teeth/ ®Ts afd

3. Occlusion /&= dYRU

4. All of the above/mﬂﬁ Tt

Correct Answer :-

« Milk Teeth/gy & &id

5) Among these which are aims of special education:/ fAg & @ ®19 fagiy fXren

T e ©:

1. Help in adjustment/IHrANH ¥ SgTadl
2. Maximum development of ability/@ﬂﬂ?ﬂﬁ 3feHad [dHT

3. Economic Independence/ 3 addr

4. All of the above/IWRIad It

Correct Answer :-

« All of the above/IURIad T

6) Pulse rate in new born is:/FdSITd @1 ATS! Tfd:
1. 120 per minute/120 Ufd fafae

2. 125 per minute/lZSHﬁIﬁIﬁ’d

3. 130 per minute/130 Ufd fAfAe

4. 135 per minute/135 Ufd fffAe
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Correct Answer :-

« 125 per minute/125 Ufd fAfAe

7) One ounce milk give calories/tﬁ?&ﬁﬂ'crgﬂﬁ FARY ure gt 8-
1. 30-40 Calories/30-40 HeRI

2. 35-45 Calories/35-45 HaRl

3. 18-20 Calories/18-20 &al

4. 37-50 Calories/37-50 HaR!

Correct Answer :-

« 18-20 Calories/18-20 &Rt

8) Which of the following are the areas of human development is:/ FAA &

B 914 fywra o1 87 7
1. Physical/w

2. Social/ ITHTS

3. Cognitive/ H3MIHS

4. Physical, Social, Cognitive/ RIR®, I, AHIHD

Correct Answer :-

« Physical, Social, Cognitive/ IRIR®, TS, TAHETHD

9) National AIDS Control Programme (NACP) was started in year/
I Tgd forisor srdwH (NACP) o adf o 3= fapar i

1. 1988
2.1994
3. 1987

4. 1992

Correct Answer :-

- 1987

10) Brale Lipi is related to:/d@fafy forad Iwfida g

1. Blind child/3i9 STelp
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2. Speech handicapped/aTuil fa&waiT aTad

3. Mentally Retarded child/AHG Sl
4. None of these/gﬂﬁﬁaﬁéqﬁ

Correct Answer :-

« Blind child/ 3/ STc®

11) Child Infancy is called as:/ QAR & ITAP B! HT HEd &
1. Neonate/ aSiTd R

2. Zygote/ ol
3. Babyhood/ ddud

4, Embryo/ YUl

Correct Answer :-

« Neonate/ =Tavird fRIg

12) When does UNICEF Programme for street children started: / T I% gRT
ITERT T & o HrfepH H9 URY gai:

1. 1992-93 Year
2. 1994-95 Year
3.1993-94 Year

4. 1995-96 Year

Correct Answer :-

e 1992-93 Year

13) Pre school education is related to: /e qd frem frad Jafia 2:
1. Informal/ﬁﬂ%

2. FormaI/GﬁtI?ITW

3. Informal & Formal/&lﬁw% qYUT SIS

4. None of these/3TH I P15 g

Correct Answer :-

. Informal/&Fﬁ'CI?lTﬁE
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14) Montessori method is related to:/ mvévﬁﬁfﬁ:m;i-ma%-

1. Education of mentally retarded children/ AHRI® fAReY STad &1 e

2. Education of genius children/ UfHTa STa®! &1 e

3. Education of physically handicapped children/IRIR® HWWW@%&H
4. All of the above/JWRIead T+

Correct Answer :-

« Education of mentally retarded children/ AFRI® %Y STd® &1 R1em

15) What is Right Stage of Prenatal Development:/ T4 %] fawra &1 T8 0
T 8:

1. Period of Embryo, Period of Ovum/ s sraw, fotg sraw
2. Period of fetus, Period of Embryo/ m‘wﬁmg, fUus saw
3. Period of Ovum, Period of Embryo/ f&W 3@, fUus 3@
4. None of these/ 370 ¥ ®Is ol

Correct Answer :-

« Period of Ovum, Period of Embryo/ %WSHW, fUus sawn

16) Which quality is related to creativity:/ ®I- TT 0T Jo-THSAT A I 3:

1. Introvert/ 3Ryl
2. Extrovert/ E%H"@[

3. Thinking/ 9=
4. All of the above/ IWRIad g+t

Correct Answer :-

« Thinking/ qra

17) Special education is related to:/ g # ¥ # fafry fem A affrfea 2
1. Special teacher/fafRy Ruenfdg

2. Special Reading material/fafRy urey I

3. Special activity/fafR1g forar fafg

4. All of the above/IWIad i

Correct Answer :-
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« All of the above/IWRIad I+

18) Which is not the law of learning?/ g § @ 1 draq o1 g T8 @
1. Law of readiness/mﬁﬁﬂﬂ

2. Law of exercise /G{WWW

3. Law of effect/JHTd &1 (HaH

4. Law of mendal/Avsd &1 fAag

Correct Answer :-

. Law of mendal/AUsd &1 fAaq

19) Which is widely spread scheme for child & Women:/WQH’ﬂ'%?lT%‘g’ X IUE
forga Qs w1 W 2

1. Integrated child development services/IHldbd a1 [dHT T AroHT
2. National Immunization Programmme/mmw

3. National Rural Health Mission/ﬂ@ﬁwﬁlﬂq

4. None of these/3TH ¥ &5 ol

Correct Answer :-

« Integrated child development services/THfdd a1d f[aH T a1 A1

20) Various kind of physically handicapped children are / TY® srerwar
¥ gad faf i< voR & ara® gd e

1. Blind children/ 3/ STdd®
2. Hard Hearing children/ﬂw?ﬂﬁw
3. Crippled children/3{Ui STl

4. All of the above/B'CIﬁ?ﬁ Tt

Correct Answer :-

o All of the above/B'CIﬁ?ﬁ Tt

21) Which is important part of human teeth?/ f55 & S\ 91 914 &id &1 W@
YT &2

1. Enamel/ Qﬁtlﬁ
2. Keratin/ fapfe
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3. Tolin/ aifer
4. Dentin/ o

Correct Answer :-

. Dentin/ Socd

22) According to Hurlock human Development has now many stages:/ al®

& TR A4 faerd $ fhait srawumd aard 2
1.11
2.6
3.10
4.8

Correct Answer :-

« 8

23) What is important carrier of Heredity:/ WWH@WW@W%
1. Genes/ St

2. Cell/ IRAebT

3. Muscles/ 3

4. Ovum/3ug]

Correct Answer :-

« Genes/ S

24) NACO is related to which disease:/ T &1 Ga¢ fHa ITH &:
1. AIDS/USH

2. Cancer/W

3. Typhoid/dufd®

4. Beri-Beri/S-at

Correct Answer :-

. AIDS/USH
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Perception, abstraction, transfer are characteristics of / W&ﬁTﬂ'UT,

1. Cognitive/ IIMTHD
2. Creativity/ {gollH®
3. Aesthetic/ Traday
4. Emotions/ |dTl

Correct Answer :-

« Cognitive/ GIMTHD

26) Which of the following is not the stage of language development:/ g #
| B UTYT fyeTa o) Srawm 78 3

1. Preparation of speech/ SId & qar}
2. Sentence use/TﬂEPIWﬂW

3. Correct pronunciation/Y[& 3=RUI
4. Socialization/JHTSIHRT

Correct Answer :-

« Socialization/JHTSHRU]

27) ELISA is a type of: /UfTHT U UHIR HI g
1. Typhoid Test/dufe® ¢

2. Cancer Test/$IR ¢

3. Fever Test/@TﬂéE

4. AIDS Test/TgH ¢

Correct Answer :-

« AIDS Test/TgY ¢

28) What is last stage of language development?/HTHT fa®TH S STER raRAT
T 32

1. Crying/ sh-d
2. Vocabulary/Rlsq HUSR
3. Sentence formation, a1 fAmfor

4. Pronunciation/ 3=IRRU]
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Correct Answer :-

e Sentence formation/ CIESREEE ]

29) Which children are called exceptional children:/ & aTa®! @I fafdme srae
Pl T &:

1. Genius or Gifted children/9fdqHTar sTd®
2. Physically Handicapped children/IRIR® G{&FJ-TEIT@[?ZER-[W
3. Mentally Retarded children/aHR® ¥0 ¥ % d1Adh

4. All of the above/IWRIad gt

Correct Answer :-

« All of the above/IWRIad I+

30) Method use for educating hard hearing children is:/ WWW@[W%
o Suah Ft 18 Ryeror fafyr v <t 2

1. Manual Method/Wﬁfﬁ
2. Sign language method/fa=g HTeT fafdr
3. Aural Method/4aul g fafg

4. All of the above/IWRiad gHt

Correct Answer :-

« All of the above/3JuRlad G

31) Crying is related to: / 31 fFad Tafia g
1. Language /TSI

2. Social/ IS

3. Emotion / LERI A

4. Motor / TTATH®D

Correct Answer :-
« Language /HIYI

32) Establishment of Creches is in which year:/ mmwaﬁwm%aﬁﬁgﬁ
i F
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1. 1982
2. 1986
3.1977
4. 1989

Correct Answer :-

« 1977

33) Change in development is? / faora & uftad= g4 &2
1. Qualitative change/ TUIT&® TR

2. Quantative change/ HHATh H XIATHD

3. Creative change/ TTHD GRad

4. None of these/ 378 I &S gl

Correct Answer :-

. Qualitative change/ o URad—

34) Necessary factor for cognitive development is:/ mﬁmv%g STAgPd

I gaT &

1. Sentiment/ddeA

2. Meditation/ ford=

3. Logical/ difdhdpdr

4. All of the above/ SWRIdd g

Correct Answer :-

« All of the above/ SWRidd g+t

35) Chromosomes are related to:/ TR fHax Tafia gid 8-
1. Respiration/ a4+

2. Reproduction/ UsH4

3. Transmission of Heredity Character/ 3{IdifRid 0N &1 RIMIARUl
4. Digestion/ UTd+

Correct Answer :-

« Transmission of Heredity Character/ &Iﬂmmﬁl?ﬁﬁ I BIRELY
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36) AIMS of PRE school education is:/ d Wr4fire fRuem &1« 3539 &:
1. Healthy environment/ ¥a¥F qIdldrUl

2. Aesthetic sense/ g &t

3. Intellectual curiosity/mi\lﬁlﬂ

4. All of the above/ SWRIdd gt

Correct Answer :-

o All of the above/ IWRIad gt

37) The ratio of new born child face & head proportion is:/ Hﬁx‘:l‘l‘clﬁl‘&[[a?ﬁ'b‘zx’
a1 iR Ft Mens A fpa=m ergura giar 8:

1. 1:8
2.1:9
3.1:10

4.1:11

Correct Answer :-

« 1:8

38) Among these which is not classification of exceptional child: / faadd e
fafRry arere @1 affezor 8t @

1. Intellectual actual/sSife® fagem
2. Motor/TH® faaeH
3. Sensory Deviance/Idq) faaeH

4. Child welfare scheme/WWW

Correct Answer :-

« Child welfare scheme/dTd STl AT

39) Which are the activities of WHO:/ Fg & ¥ WHO 9 &1 t nifafafRmr 2
1. Environmental health/uafaRofig W@
2. Development of Men Power/dTHd ifad &1 fasmr

3. Prevention and control of Specific disease/fdfRme I &1 ARy Td =0
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4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SURIad Tt

40) Learning capacity of children in preschool is based on:/ q:q‘wwnamﬁaﬁ
e o ermar smenfya -

1. Personal based capacity/ fGATd TR =T

2. Syllabus based design/ IedshH TR -1

3. Government based Programme/ YTTH 1Y eTRT HTdHH
4. Teacher Based Capacity/ Rief& 3nutia &

Correct Answer :-

« Personal based capacity/ SAfadiTd TR T

41) National handicap organization is situated at: / ﬂ@ﬁﬁﬁmwaﬁ’f@lﬂ

T
1. New Delhi/=s feweit
2. Mumbai/4a%

3. Dehradun/éé?lgﬂ
4. Calcutta/dIadmdl

Correct Answer :-

. New Delhi/7s feceft

42) What is the concept of leaning?/ J@A &1 ared 1 gIaT 82
1. Change in emotions/ a1 # gfga

2. Change in feeling/ &lﬂ’-'-ﬂ%rﬁtlﬁﬁ?ﬁ

3. Permanent change in behavior/ agR # RIS TRad

4. Change in Aesthetic sense/ Ticd oty H gRad—

Correct Answer :-

« Permanent change in behavior/ Wﬁ@ﬂéqﬁﬁ?&r

43) Need of protection is:/II&Ul P ATIIHdT FI gl 8-
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1. For DeveIopment/ﬁW%ﬁﬁ

2. Emotional Maturity/ﬁwqﬁqﬁﬁﬂ
3. For Adjustment/THrAIoH & faQ

4. All of the above/JWRIe T+

Correct Answer :-

« All of the above/IWRIad IH

44) Protection of child rights is related to:/ ITd SfYBR] I v&T fFrad Jdfya gidt
e

1. ICDS
2. ICPS
3. NACO

4. UNICEF

Correct Answer :-

« ICPS

45) What type of emotions in children are:/ STa®! & "7 fHd YR & g ©:

1. Absent/ W@H

2. Permanent/ Rﬂé

3. Imbalanced/ 3rEqferd
4. None of these/ 's’:l'ﬁ@ﬁ'%:@

Correct Answer :-

« Imbalanced/ 3Rigfea
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